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 Autograph Activity

The Gradient Function of a Straight Line


	Follow these instructions to help you understand the notation:
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 Open a new 2D page (Advanced Level) 
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 Add Equation  y = mx + c
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 Set Equal Aspect
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 Select the graph and then . . .
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 Text Box

Tick the box to ‘Show Detailed Object Text’ . . . also a good idea is ‘Select Preset Style’ (e.g. Ice Blue)
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 Use the Constant Controller and set: c = ​- 1, m = 2 as shown below
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 In ‘Slow Plot’ select the . . .
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 Gradient Function
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 Change ‘c’ and then ‘m’ using the Constant Controller and observe the Gradient Graph. What happens when ‘c’ is changed? Why?
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	You should now understand the result shown opposite that for any straight line in the form:  
          y = mx + c . . .

the ‘Gradient Graph’ (dy/dx) is given by:
                                  dy/dx = m
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